3aBIaHHA 32 TEMOIO
«ludepenuiroBanHs ajaredopaidHux GyHKuin»

Hexaii C, a, aeR (a>0, a#1); U=U(x), V=V(X) — nudepenitiiioBHi (HyHKIIII.
[IpaBuna audepeHIitoBaHHS:

1. C'=0. 2. (CUY =CU".

(1)

8. [f(U)] = f'(U)-U".

3. (UzV)=U'+V’.

:[¢)

UV -uv’

4. (UV) =UV +UV'. v

[7)

®opmynu nudepeHIitoBaHHS:
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1. Ua r_ .Uafl.U!. 2 \/U ':—.U'.
Uy =a W=
3. (@’)=a":Ina-U’. 4. (e¥)=¢e"-U".
1 1
5. (IogaU)’:U'InaU'. 6. (InU)’=U-U'.
7. (sinU) =cosU-U’. 8. (cosU) =-sinU-U’".
1 1
9. (guU)' = U’ 10. (ctigU) =— U,
(tgU) cos’U (ctgU) sin®U
11. (arcsinU)' = ! U’ 12. (arccosU) =— ! U’
1-U? 1-U?
13. (arctgU)’ = L U’ 14. (arcctgu)' =— L U’
' J 1+U? ' J 1+U?
3HalTH NOX1AHY (PYHKIIIH:
B 3_1_ 8 _ -4 =e(3X74X)_x5- _e4X2+2 y:87X—6-y:|n(2X _4)
R R Rar=
(,. 3 * sinax y=2%-tg3x- y=arcsinIln5x - y=5"arccos6x
2. y—[4x _ﬁ+4j- ~cos7x ! !
(gt _afwE 1) _ghdx-2x, In4x _ 9 y =3% ~In(4x3—5),
3. y (2X 3 1); y ’ X* —6X \/x5+4x—1; ’
4 y=<3x_4\/;+2)5_ y=54x‘5'”x- y:4X+7tg>< y=cos2x-e™™. y =Inarctg3x

, ’ Jox?-1 - ’



3x6

> y =10% - In(5x +~/2x — D:y=2_ \_
In{x* -1)- In4x cos4x

5. y:(x2+25/;+4)4; y=

4
y=(¢+2Yx+4)"- _ X y=4"".arctg2x- y=Incos5x. yo X +INX

> SN el ’ SN/
5 3x X} —4x 6 65

=(3x— y=e"In(8x+3). y=5 . oy= -
7 y (3X 4\/;+2); J ;Y In(4x-7) . y 8x +10x°

5 2X+5 5 In8x -8 5

=(3x%+24/x - y=11". y- y=———— y=In2x-(x>-4) .
8 y=(3x +24x 8); e ) ). Cox) :

y:(2x4—3\/x_5_1)4 y:_\/Z—XZ y:53r°tgxsin4x; y:Inarcsin3x; y = e*™"* cos 4x

9. : COS2X

s 4x=5In2 9 3-4 5 2 _gx
—(w0 - 2] Y=oy y=eC0.%  _ 6x -9

10.” : ' _Inixf’—li; v a1 7x
11 v —(3x— ° 4x+7tgx 2%.e5" v =narctald 2x? —ctgx
y=(3x—4/x+2) y-= y=cos2x-¢™". y=Inarctg3x. , _
( )’ ,9)(2_1 1y 6X2_5
2
12 y_[gy_ 3 Cos3X =49 gresin(x?) vy =Insi =e* . (6x" +7x* =3)
y_(6x +4) y= y=4""arcsin(x“). y Insm?x;y
VN Yy <),
3 : In 3x 2 3
tx
y=(x6———8j y=——o . y=4"-(X"+5x-1In8). -6 y=In(7x" -9x)
13. 2 ; FX2+4; : yzm

3
14. y:(xz—1+5x/;J y= arcsin7x y= e‘gxln3x y =C0s3/3—x* y In(5%> +2x)
X . X' +e* -

2
15. v _[gys_ 3 y=3sin(5x+10) . 4x=x° -5 y=7%n(x+1)
y (GX X3+4j 7_)'”( 8 o

5
16-Y=(X5—3/;+1) y o M=4x A y= e“‘”sm5x y=sinln6x. y= gx-In4

; 2X+tgx-
y= +5«/_j _ 6 3
17. ( —|n(6X—X —9) y:%; y= %, y= (X +IX— 7)Inx,
5X—3X
3
y:(BX - l 7] = X +tgx arcsmx
18. N +7: Ctg3x. y=arctgn7x.  _o5x. (x4 4 3)



y:(xs—é/;+l) L y= 3" —6x —_4 y=|n((4x3—5)2)

19. : 149%° 1 y= : : y=3%(x> —In6X

y In9x Y ( )
3 2" +ctg2x
_ X3—4\/X_3—2 y= __ asinx —
20. y ( ) ; m; y=¢ arccos?x; y—arctgln8x; y:lntg?X.
3
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21. X : 9x —2X; X —7; y:m; y:(3_x3).2x

5 _V coSBX
y:(sz—?—Zj Y=

22 _Sin3X; yzexztg5x; y:arCSinanX; y=1/vIn2x—-x"

3
(ays _ashz _7) yBx=Inx y=e . (2x—x%). y=In(5x* +4x-1). y___—7
28, y=(o -3 -7) v @0, SRl

3 .
y:(x4—2§/§—1) g Ya-o5¢ y=2"""arcsin2x. y=1log,cos7x.y=In7*-5x+1
24 ' e —ctgx - ’ ’ '
=(2- ) 2-x*  y=5".(4x* +2X+1). y=In(3x%>+2). y—_ 8
25. y_(2 3X+6\/X_) ; y= In2x y ( )’ y=In(3x"+ )’ y_In(x—2)

8 4_ oS X
y_[3xe_ 6 J yzwl y=2""In2x. y:ln(thx—?);y:\/i4x3i—x2_

26. ﬁ“ : sin3x
4 2 X
y:(3xz_%+1) y= Zf—fx y=e"-(5x*—4x* +3) . y=In(6x+1).,____ ©
27. X ; +Inx ; (-3x3-4) -

6 2
y:(9—3\/§+ﬂj y= IZM'X y=tg(5x-ex ) y=|nsin(J2_)_y=32*-|n(2x—9—1)
28. x) X" —6x; ' , X 7,

20. (12 .. ) yo¥Pe2 y=2%.3x+2. y=In(5x-5). y=— 4
- (‘/X_S . er+4; ! 1 |I’I(9—X6)-

2 —_ —
30. y:[4x2_i+4j y=V(X5—3X) . y=InGX 69 y=9% 'n(6x+7); y=—>_ y=arctgln5x+8x
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